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Encoding Better DNA Sequence for DNA Computing

Taku Matoba
Abstract: DNA computing is information processing utilizing DNA molecule. The most critical step in DNA

computing is the encoding step that arranges the algorithmic problem onto DNA molecules. If this phase

failed, they would attach undesirable points. This “Unintended Hybridization” affects the results as an error.

In this paper, we present a new encoding method for DNA computing using genetic algorithms (GAs) on a

desktop computer. The evaluation function that is introduced in the leading investigations doesn’t fully reflect

hybridized condition. Thus, we propose a new evaluation function as well as crossover that corresponds with

coding space. This crossover utilizes mutual evaluation with strands. New evaluation function and crossover

draw good encodings.
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